

Conta usando gli oggetti o le dita, scrivi il risultato.



$0 + 11 = \dots\dots\dots$

$15 - 6 = \dots\dots\dots$

$12 + 2 = \dots\dots\dots$

$11 - 5 = \dots\dots\dots$

$11 + 3 = \dots\dots\dots$

$10 - 8 = \dots\dots\dots$

$1 + 13 = \dots\dots\dots$

$9 - 2 = \dots\dots\dots$

$5 + 13 = \dots\dots\dots$

$14 - 7 = \dots\dots\dots$

$12 + 0 = \dots\dots\dots$

$8 - 8 = \dots\dots\dots$

$6 + 9 = \dots\dots\dots$

$12 - 0 = \dots\dots\dots$

$8 + 7 = \dots\dots\dots$

$7 - 5 = \dots\dots\dots$

$2 + 0 = \dots\dots\dots$

$13 - 4 = \dots\dots\dots$

$14 + 1 = \dots\dots\dots$

$11 - 7 = \dots\dots\dots$

$7 + 7 = \dots\dots\dots$

$15 - 6 = \dots\dots\dots$

$6 + 6 = \dots\dots\dots$

$10 - 1 = \dots\dots\dots$

Conta usando gli oggetti o le dita, scrivi il risultato.



$9 + 3 = \dots\dots\dots$

$10 - 5 = \dots\dots\dots$

$8 + 4 = \dots\dots\dots$

$11 - 7 = \dots\dots\dots$

$6 + 7 = \dots\dots\dots$

$12 - 6 = \dots\dots\dots$

$5 + 10 = \dots\dots\dots$

$13 - 10 = \dots\dots\dots$

$4 + 11 = \dots\dots\dots$

$14 - 0 = \dots\dots\dots$

$2 + 8 = \dots\dots\dots$

$15 - 2 = \dots\dots\dots$

$3 + 9 = \dots\dots\dots$

$15 - 5 = \dots\dots\dots$

$10 + 4 = \dots\dots\dots$

$9 - 9 = \dots\dots\dots$

$11 + 3 = \dots\dots\dots$

$8 - 7 = \dots\dots\dots$

$12 + 2 = \dots\dots\dots$

$14 - 9 = \dots\dots\dots$

$13 + 0 = \dots\dots\dots$

$15 - 6 = \dots\dots\dots$

$14 + 1 = \dots\dots\dots$

$12 - 3 = \dots\dots\dots$